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Topic:- General English

1) Out of the given four sentences, choose the one which is grammatically
correct.

1. He has been trying to solve this sum for the last two hours
2. He has been trying to solve this sum since the last two hours
3. He have been trying to solve this sum for the last two hours

4. He have been trying to solve this sum from the last two hours

Correct Answer :-

« He has been trying to solve this sum for the last two hours

2) Out of the given four sentences, choose the one which is grammatically
correct.

1. She has forgave her brother for breaking her favorite vase
2. She has forgive her brother for breaking her favorite vase
3. She have forgiven her brother for breaking her favorite vase

4. She forgave her brother for breaking her favorite vase

Correct Answer :-

« She forgave her brother for breaking her favorite vase

3) Out of the given four words only one is spelt correctly. Find the word that is
correctly spelt.

1. Pressance



2. Profhesional
3. Probably

4. Prejudise

Correct Answer :-

« Probably

4) Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelt.

1. Irrelevant
2. Interuptione
3. Interpretation

4, Irritation

Correct Answer :-
« Interuptione

5) DIRECTIONS: A sentence with an underlined word is given below. Find the
Word which is most similar in meaning to the underlined word.

The office boy went around the office collecting old coffee cups.
1. throwing

2. discarding

3. distributing

4. gathering

Correct Answer :-

« gathering

6) DIRECTIONS: Find the word which can be replaced for the given sentence.
One who works for the welfare of women.

1. Psychologist

2. Feminist

3. Biased



4. Philosopher

Correct Answer :-

« Feminist

7) DIRECTIONS: Find the word which can be replaced for the given sentence.
The plants of a particular region.

1. Flora

2. Fertile

3. Pesticides

4. Fossils

Correct Answer :-
« Flora

8) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘a house of cards' in the
sentence given below?

The organization that looked so solid and dependable turned out to be a house
of cards.

1. None of the above
2. an organization or a plan made from the money earned through gambling
3. an organization or a plan that is very strong and cannot be easily destroyed

4. an organization or a plan that is very weak and can easily be destroyed

Correct Answer :-

e an organization or a plan that is very weak and can easily be destroyed

9) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘A bird in hand is worth two in
the bush’ in the sentence given below?

I might get a better offer, but a bird in the hand is worth two in the bush.

1. None of the above

2. to keep a hope of more than what you want and have nothing is always advisable



3. it is better to be satisfied with what you have than to risk loosing everything by
seeking to get more

4. having nothing concrete in hand in the hope of getting many things is always better

Correct Answer :-

« it is better to be satisfied with what you have than to risk loosing everything by
seeking to get more

10) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

The cook brought in a fresh batch of homemade cakes.
1. tasteful

2. wholesome

3. nutritious

4. stale

Correct Answer :-
« stale

11) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

The war brought misery to thousands of refugees.
1. discomfort

2. pleasure

3. unhappiness

4, ruin

Correct Answer :-

« pleasure

12) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

He had (a)/ met her before, (b)/ had he? (c) No Error (d)



1. (a)
2. (b)
3. (d)
4. (c)

Correct Answer :-

13) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

Your dog (a)/ runs faster then (b)/ Jim's dog. (c)/ No Error (d)
1. (a)

2. (b)

3. (d)

4. (c)

Correct Answer :-

» (b)

14) DIRECTIONS: Fill in the blank with the correct Preposition.
Sameer plays badminton in the park his house.

1. to

2. from

3. behind

4. for

Correct Answer :-

« behind

15) DIRECTIONS: Fill in the blank with the correct Preposition.
They are swimming in the pool the sports complex.

1. onto



2. from
3. with

4, at

Correct Answer :-

16) DIRECTIONS: Fill in the blank with the correct article.

Yamuna is the longest and the second largest tributary river of the
Ganges in northern India.

1. An
2. The
3. No article required

4. A

Correct Answer :-
« The
17) DIRECTIONS: Fill in the blank with the correct article.
old house of our landlord has been divided up into three rental units.
1. An
2. The
3. No article required

4. A

Correct Answer :-
« The

18) DIRECTIONS: Out of the given four options, choose the correct conjunction
to fill in the blank given in the sentence.

her poor health, my mother was always cheerful.
1. Because of

2. Hence



3. Since

4. In spite of

Correct Answer :-
« In spite of

19) DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

We tried hard.
We lost the game.
1. Because

2. Hence

3.S0

4. Though

Correct Answer :-

20) DIRECTIONS: Out of the given options, choose the most appropriate one to
fill in the blank.

You ashamed of yourselves.
1. should be

2. should not have

3. should have

4. should

Correct Answer :-

« should be

Topic:- General Science

1) NayCOs3.10H,0 is/ NayCO3.10H,0 T 82

1. Washing soda/ WW@GT



2. Bleaching powder/fa¥sH-3uf
3. Tartaric acid/ TR 3+
4. Baking soda/ SfdTT TIeT

Correct Answer :-

« Washing soda/ §dTs &1 TIaT

2) Sound travels in air at 0°C with a velocity of about-/ af< 0°C WR 549 37 3 g
Pl 8-

1. 380 meter/second / 380 Hicx/IAdbe
2. 300 meter/second/ 300 lﬂET/ Idbs
3. 360 meter/second / 360 HIcY/Abhs
4. 330 meter/second / 330 Hicy/dHs

Correct Answer :-

« 330 meter/second / 330 Hic/IHS

3) The frictional force with the in roughness of the

surfaces./ g0 96 Tdg & GETUA & 1Y gl
1. Increases, Decrease/ EIG%R?[, W@Tﬂ%

2. Increases, Increase/ Eﬁﬁﬁ, GE_CIT%

3. Decreases, Decrease/ ®H &M ¥, HHBIA &

4. Decreases, Increase/WEﬁ@[, GEHT%

Correct Answer :-

e Increases, Increase/aﬁﬁﬁ, EIE‘dT%

4) Electron volt is a unit of:/gaaa‘haiﬁrm%:
1. Momentum/?iaTr

2. Charge/ 3=

3. Potential difference/ faHarmR

4. Energy/ Sl



Correct Answer :-

« Energy/ Sl

5) If we mix lights of the colours of the rainbow, we will get-/ ﬂﬁ%‘qwsﬁ%ﬁ[ﬂl
& i 1 ffa 3% ot g9 ae-

1. Brown light/ YRT3T
2. Pink light/ T[efrelt ¥
3. Colourless light/ e USRI

4. Black light/ Tdl UHIRT

Correct Answer :-

« Colourless light/ STgIH U1

6) Which component of blood helps in clotting?/ Y& &1 ®1H-9T U< Ygb A JgUP

8!
1. Plasma/ WITeHT
2. RBC

3. WBC

4, Platelets/ ﬁ'k_squ

Correct Answer :-

« Platelets/ fowaTy

7) Ionic compounds in general possess both:/ 3mafa® Qe JAMHTI: i
TEd &

1. Directional bonds and low boiling points/ fG=Td® §¢ a1 A9 Hu-ie

2. High solubilities in polar and non-polar solvents/ ?zl?ﬂ?i[ ayr S{Q'qﬂ'q ERIRCARRE gﬂd%‘l‘lmdl
3. High melting points and non-directional bonds/ 3= Tc-idh dYT JETHD §Y

4. High melting points and low boiling points/ 3= TeiHic dul (A4 SHY-idh

Correct Answer :-

« High melting points and non-directional bonds/ 3 Ta-ic adT HfGRATHD §¢



8) Largest gland in human body is-/ A4 IR A Jad 9 U 8-
1. Thyroid/ QJTCRTE_&'
2. Liver/ 9pd

3. Pancreas/ 4R

4. Pituitary/ fUcgedt

Correct Answer :-

« Liver/ d%d

9) The pressure increases with-/ E'ITSIEI?._!T-IT%-

1. Depth has no effect on pressure/ TTERTS &I &I TR s UHIG 8! USdl g
2. None of these/ S8 I ®Ig o

3. Increasing depth/%ﬂé&ﬁ%‘éﬂﬂ

4. Decreasing depth/%ﬂéaﬁm?ﬂe{w

Correct Answer :-

« Increasing depth/ e[S de- & 1Y

10) Sunshine vitamin is:/ 4 & UGN A U faerfae &:
1.E

2.D

3.A

4. C

Correct Answer :-
« D

11) Ameoba reproduce through-/ 39T S99 $3dT 8-

1. Tertiary fusion/ Jdidd Jea gRI
2. Binary fission/ fgfd@ug gr
3. Budding/ & gRT



4. Fertilisation/ 8= gRT

Correct Answer :-

« Binary fission/ fgfa@ue grT

12) Large quantity of perishable foods are stored in-/ A=A WY ey &t 3iftre
AT ST HSRYT fhaT ST 8-

1. In the open fields/?gﬁ@ﬂ:rq?
2. Cold storage/ fid HUSR

3. Silor/ Rk

4. Godowns/ Tar™

Correct Answer :-

. Cold storage/ 2fid HUSR

13) Periyer wildlife Sancturey is located in-/ iR =0 Sfiq 3rgrRur fRyq 8-
1. Karnataka/ CRICIE:]

2. Kerala/ A H

3. Tamil Nadu/ ?lﬁl?l‘rﬂgﬁ

4. Andhra Pradesh/ 3= Ue<T H

Correct Answer :-

. Kerala/ ®RAH

14) The sum number of neutrons and protons in radioactive isotopes of

hydrogen is:/ BISSIoH & U THRITS T IS 9 WelH St I3 &1 T gial 8-
1.3
2.4
3.6

4.5

Correct Answer :-



15) Which one of the following salts does not contain water of crystallization?/

frafifd aqu & @ R feveddiewo o1 e aftife T8t 82
1. Washing soda/ {@Ts &1 JIaT

2. Gypsum/ixlrl'GEITr

3. Blue vitriol/ & faf¢ae

4. Baking soda/ ST T

Correct Answer :-

« Baking soda/ Sfd T T

16) Which of the following is a conductor?/ ﬁaﬁﬁﬁmmww%?
1. Plastic, PVC/ W@, PVC

2. Mica/ HIg®I

3. Sugar solution/ Y& faaaA

4. Salt solution/ T faaa

Correct Answer :-

. Salt solution/ 7H® faea=

17) A luminous flame appears:/ mﬁﬁﬁ@ﬁﬁ?’
1. Green/8RI

2. Blue/rar

3. Yellow/dfel

4, Red/<dldl

Correct Answer :-

. Yellow/dten

18) A boy whose position with respect to surrounding does not change, is said

to be in a state of-/ U®h AS®H] e fRURY 3ra= aRa=r & Ader uRafda 781 i, =9
TRIT W EHT W oIl 8-

1. Vibration/ Hd



2. Motion/ Tifd
3. Oscillation/ NG
4. Rest/ faxm

Correct Answer :-

. Rest/foRm

19) The centriole is associated with-/ <13id Jafira 8-
1. Cell division/ ITRTeRT faHTeH

2. DNA synthesis/ T=cioT

3. Circulation/ dsh Ul

4. Respiration/ 44

Correct Answer :-

« Cell division/ IR faHSH

20) When a ball is thrown upward, its total energy:/ 19 T& Ti¢ B HUT B 3R BHT
1Al € 3P Fd SHoll:

1. None of the above/ Wﬁ@aﬁ‘s‘ﬂﬁ
2. Increases/@@?ﬁ%
3. Remains same/ A gldl §

4, Decreases/ ®™H ?ﬁ?ﬁ %

Correct Answer :-
« Remains same/ YO gldt &

Topic:- General Knowledge

1) As per Census 2011, what is the density of population (per square kilometer)

of Madhya Pradesh? / SFRIUFT 2011 & AR, WU St METSH (fed a7 fhaiiter) &1
Ucd T 82

1. 230

2.236



3. 240

4, 245

Correct Answer :-

« 236

2) How many wards of Bhopal have been declared as gas-affected in the Bhopal

Gas Tragedy that occurred in 1984? / 1984 # gt MUTe 9 TRISE & SR WU &
o arst &t A wwifaa aifta fear war a2

1. 36
2. 20
3.26
4. 38

Correct Answer :-

« 36

3) How many central universities are present in Madhya Pradesh?/ g g o

e Helia fayfeme divg 372
1. One/ U

2. Three/ oA

3. Four/ IR

4. Two/ al

Correct Answer :-

o Two/ al

4) Narendra Karmarkar, a renowned mathematician, was born in:/ﬂi‘?w,

TP URI TGS, &1 o7 Bl g3iT UT?
1. Jabalpur/SIdeigR

2. Indore/3aR

3. Bhopal/ﬂ-ﬁw

4. Gwalior/TaTferaR



Correct Answer :-

« Gwalior/TaTeraR

5) In which year was the National Football League hosted in Indore?/ s‘aﬁ?ﬁ'
JTafora T Bedrd o fba af gorm ur?

1. 2013
2.2015
3.2016
4. 2014

Correct Answer :-

« 2013

6) In which of the following districts is the Fair of Math Ghoghara held?/

fFrafafEa el & @ o1F- 3 R d & 9”1 o1 3ar @ww«r g2
1. Hoshangabad/ gIRiTETG

2. Seoni/ Rya=

3. Gwalior/ TaTfeRR

4, Satna/ dd-l

Correct Answer :-

« Seoni/ gt

7) At which place of Madhya Pradesh is the Indian Institute of Science

Education and Research located? / 3399 $&lege 3iTh AET THRE s R aer wexr
¥ frg T R fRG ?

1. Jabalpur/ SI&eYR
2. Indore/ Sﬁ?

3. Bhopal/ Hiard

4. Gwalior/ TaTferAR

Correct Answer :-

« Bhopal/ Hiure



8) Which of the following is an UNESCO World Heritage site? /R & & ®19-91

T fay eRIgT T 82
1. Chanderi / Sigdt

2. Bhimbetka / HiHaceHT
3. Orchha / 3IR@T

4. Mandu / AIg

Correct Answer :-

« Bhimbetka / HHde®HT

9) Which of the following is mostly found in the Kanha National Park?/ ffafafaq
H | $F- 1 a9Wfa AfUHar ST AN Ut § UTdT S1a1 82

1. Neem trees/ A& US
2. Coconut Trees/ TIRIAA & US
3. Sal Groves/ W%ﬁg

4. Mangroves/ a3 g-Tdfd

Correct Answer :-

. Sal Groves/ 9@ & US

10) Which of the following places is present in the Bundelkhand plateau?/

s UoR | 7 # A $H- 1 RIH HiN[g 8?2
1. Hoshangabad/ BIRATETG

2. Bhopal/ Hiurd

3. Shivpuri/ W

4. Sanchi/ i<

Correct Answer :-

« Shivpuri/ W

11) What is the name of the cartoonist who came up with Kanha’'s mascot

‘Bhoorsingh the Barasingha’?/ ®T-g1 & J[UHR '"YRRY ¢ IRIRTET & ATY 3T TREADR



BT ATH R 8?2

1. Rohan Chakravarty/ g Ihad
2. Rohan Joshi/ @%‘[Gﬁl’ﬁ

3. Surya Chakravarty/ HQEITEW?W
4. Surya Joshi/ {[Cl’f\_rﬁﬁﬂ

Correct Answer :-

« Rohan Chakravarty/ iléﬂW’cﬁ

12) Which city is known as The Ordnance Hub of India?/ ﬁq-@rnreﬂﬁ HRd BT
3T g% BT Tl 82

1. Jabalpur/ SIS¢4R
2. Indore/ $eR

3. Bhopal/ Hara

4. Gwalior/ TaTfeRR

Correct Answer :-

« Jabalpur/ SI€eYR

13) Where has the world’s first White Tiger Safari opened in Madhya Pradesh?/
AU | AT &1 UgaT 44 SR GBR S8l @IdT 14971 32

1. Kanha/ &T=gl

2. Hoshangabad/ gIRATEIG
3. Bhopal/ uara

4. Mukundpur/ HHeQR

Correct Answer :-

« Mukundpur/ HeQR

14) Which place of Madhya Pradesh is called ‘Detroit of Madhya Pradesh’?/

AU & DIF- A I B TSR HT SeIge’ Hel ATdl 82
1. Ashok Nagar/ 3RMB TR

2. Jabalpur/ SR



3. Pithampur/ WYHagR
4. Indore/ SR

Correct Answer :-

« Pithampur/ Tﬂw

15) ‘Kanya Saksharta Protsahan’ Scheme was launched in January 2006 to

promote: / '&=T HI&RAI WeaTg" Tioi1 ®i fb &7 ¥ 9g1a1 31 & g =ast 2006 # I=
forar war ur?

1. Primary education of girls/ dsfdal &1 wyfie Ren
2. Education of all girls under Poverty Line / W%@éﬁﬂ%mﬁa@%ﬁaﬁﬁ&n

3. Education of all dropout girls/ TeTs BIg- arelt it el &1 fRram

4. Higher education of SC/ST girls/ THd / T¢I Asfdhdl & forg 3= R

Correct Answer :-

« Primary education of girls/ mﬁmmﬁf&ﬂ

16) Badruddin Jamaluddin Kazi, born in Indore is well-known by the name of?/

SR A & SaogI SHIge M et (U # @ forg = @ waret faerma 32
1. None of these/39H Y ®Is ol

2. Johnny Lever / -l elfaR

3. Johnny Walker / S dihR

4, Mahmud / HgHa

Correct Answer :-
« Johnny Walker / ST aTpx

17) The Pandava Caves is a tourist destination at:/ UiSd BT¢ $gl & Tde U 3?2

1. Khajuraho / @SRTg!
2. Panchmarhi / daHg!

3. Ujjain / I=iA
4. Omkareshwar/ 3NTBPRYT



Correct Answer :-
« Panchmarhi / taHe!
18) Ratnesh Pandey is associated with:/?ﬁﬂqﬁma?mﬂﬂ%@%?

1. None of these/ﬁﬁﬁaﬁ%ﬁ
2. Journalism/wﬁ_cﬂ

3. Mountaineering/tlar?lﬁEUT
4. Social Activism/ITHIoS dfchadr

Correct Answer :-

. Mountaineering/tlff?lm%“w

19) Madhya Pradesh is the largest state in the country by area:/
ALV EFd & JIR S/ BT e TSI g

1. First/UyH

2. Second/fgdi™

3. Third/Jdran
4, Fourth/ilﬂ?f

Correct Answer :-

« Second/fgda

20) Maharishi Panini Sanskrit University, Ujjain was established in:/ #gf¥f urfort
Txgpd fayfaemed, 3= A wa wifud farar mar ure?

1. 1935
2.1978
3. 1946
4. 2008

Correct Answer :-

- 2008



Topic:- General Hindi

1) YIRd § UgdT GHER 97 f5a yren & ya1fla gan :
1. ST HToT o

2. ORI YT &

3. Tt yror o

4. 3T yToT o

Correct Answer :-

. 3Tt HIST H

2) WS TP & T & Tgl HYT LI B :

1. T8 AU Bl B

2. I8 T8 YAl & UgUT 3R (AT o) TR Tt Bl 2
3. I HTHIURTHA Bich g |

4. 3% fordlt UHR BT Ife AT AT AT B

Correct Answer :-

. I8 T3 Wsa! & Ul 3R AT 1 WpR 8! Bl gl

3) fafe=mr fora & aielt 9= arelt yg@ Al 3
1. TSt
2. §ad!
3. gUa
4. {4l

Correct Answer :-

4) “JATIP B! YT AT~ qTH 8 :
1. YRS TRa



2. oo aRTE® I

3, HIAGIYD T
4, Tafeg=e T

Correct Answer :-

5) *37&r 2Ueg BT S T 7 :
1. RR

2. ufgarn

3. 3T Traa

4, dh

Correct Answer :-

. LS g

7) ‘Bae § T AT YETaY BT AR :
1. g8 B
2. TN BT
3. 3o gl

4. Y < IT-]

Correct Answer :-



8) MY A A YT 3 :
1. 99
2.9
3.7
4. 07

Correct Answer :-

9) ‘Gu Siifer g A oirg, =i i ¢fE wworg- iR 4 8 :
1. 3N DR
2. qIfad PR
3. IohIToRT SEAPR

4. AfaRAfad SAPR

Correct Answer :-

. SifaxEifed sddR

10) ‘Alleglance’ &1 %?ﬂ IR HIN® Yo % :
1. ol

2. fgn

3. frsmd

4. fR1UC

Correct Answer :-

- fm

11) fSoar 1RO IR
1. T=re



2. 3Ydl
3. &0
4. TGl

Correct Answer :-

12) ‘WY eq BT YYTGATI © :
1. IRl

2. 9IRS

3. 3o I

4. Ydq

Correct Answer :-

e Y

13) ‘4R T HTATET U hv'- AT ¢ :
1. ARIRTED dIH

2. QWINdr dlay

3. fAyma® are

4. Jharde arR

Correct Answer :-

Correct Answer :-



Correct Answer :-

. 3G WR MY

16) AlAGIHG SR AT ‘3T B FHid 8
1. SRAGqt

2. /Y

3. 491G BT UG Cql o

4. fpat A1dl R fba aR

Correct Answer :-

. foat Amal R fooaHt IR

17) fafafeq o fodw ssg-gm adi e :
1. IR-fagE

2. 3P A-Ulddd

3. QHH-aTHT

4. -8R

Correct Answer :-

« dIH-dTHT

18) Fafafea A g o ?
1. 98 WU & el TR H 3MToia <3|



2. 98 39 IR T &I

3. fordt IR 1 garran|

4. T 30T BT e fora |
Correct Answer :-

. T 3O B el o
19) FRfIfeT A s v 7 :
1. foRTe

2. o

3. 9T

4, HH

Correct Answer :-

20) frraffae & guia Rmde Te-gm g 2 :
1. ST

2. AA-GH

3. Q-2

4. STgI-dg]

Correct Answer :-

A4 4

. Sgl-ael

Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series: /e Eﬁ:&;ﬁ
e goft § Terd ug I B

25, 23, 27, 19, 34, 3, 67

1.19

2.3



3.34
4. 23

Correct Answer :-

If 27 is subtracted from 37 and difference is multiplied by 112 then what will
7 5

be the final number?/Afg z?aﬁ3§ﬁ‘£|?rq1\‘:rrqam SR BT 112 A U {41 SI1E, 1 ured e
T ER?

1. 96
2.102
3.90
4,112

Correct Answer :-

3) The roots of the quadratic equation x2 - 1200 = 244 are: /fgard IHHIUT x2 — 1200 =
244 F A E:

1.-38, -38
2. +38,-38
3. +32,-32
4. +38, +38

Correct Answer :-

4) A swimmer can swim downstream at 14 kmph and upstream at 6 kmph.
What is the speed of the swimmer in still water?/W?RTEF YRT & faudia fe=m & qur
T B fa=m A HHRI: 6 fF/aver qur 14 fFHi/aver nfa A Avar 31 fRR oa & e 31 7
fpat g2

1. 11 kmph/11 feHi@ver

2. 9.5 kmph/9.5 faHt/euer



3. 12 kmph/12 feei/eoer

4. 10 kmph/10 fodieuer

Correct Answer :-

« 10 kmph/10 feHi@uer

5) Angle subtended by two equal chords at the center of a circle will always

be:/T® gl B &I TUH ATl GIRT B+% U I HI0T AR I
1. Complementary/ R&
2. Cannot be determined/ IBRIIEG] ERACRIRSIRESI

3. Supplementary/ IQR$p

4. Equal/ gH11

Correct Answer :-
« Equal/ qdMH

6) If each interior angle is double of each exterior angle of a regular polygon
with n sides, then the value of n is /3f¢ n YSI3if a6 TP THTEYS H UAD STdRS HI,
YA ST DIV BT GREAT g1, At n BT A T ERM?

1.8
2.6
3.5

4.10

Correct Answer :-

« 6

7) A is twice as fast as B. If B alone can do the work in 30 days, in what time A

and B together can complete the work?/A D BRI B ﬁiﬂ'ﬂT-IT%I gfe B 3 fhsdt
P $t 30 A A R HI AHaT 8 1 A 3R B TH A1 fias St &k &) foram fot & e

1.8
2. 15
3.12

4. 10



Correct Answer :-

8) A boat rowed down a river at 21 kmph and rowed up the river at 9 kmph.
What is the speed of the stream?/YRT &1 fe=n A qu1 YR & fAuid v 19 H} I HH:
21 frfi/aver qut 9 fHi/aver 31 Ut &Y nfa w82

1. 4 kmph/4 fodi@Euer
2. 6.5 kmph/6.5 faHi/@aueT
3. 5 kmph/5 f&diauer
4. 6 kmph/6 faHi/@Te

Correct Answer :-
« 6 kmph/6 f&Hi/@Te

9) A, B and C together can do a work in 20 days. If A and C can do the same
work in 40 and 60 days respectively, then in how many days can B complete

it?/ A, B 3R C T I1Y <t wrdf ) 20 31 & r1 = 9avd 213 A 3R € 3rba St ol &)
HHT: 40 3R 60 o= § H TP §, a1 B 3rFbd W &1 31 fora 131 & Ry Heam?

1. 100
2. 110
3.90

4,120

Correct Answer :-

« 120

10) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /9. Fafafaa goft & yyars fore (2) & WM W T4 3T A1lw?

156, 506, ?, 1806
1. 1506

2.1056

3. 856

4. 1456



Correct Answer :-

« 1056

11) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ 3= FAfefRad u=a o yxar® g (2) & RIF W= &1 31471 91fee?

38 7 3
102 —4—9— 12— 4 =7

12) Average temperature from 9th to 16th of a month is 30°C and that from
10th to 17th, 31°C. What is the temperature on 17th, if temperature on 9th is
35°C?/ fFdt v & I 9 A G 16 9F HT 30T dTUHH 30°C 3R 10 W 17 9F HT
31°C 31 3f¢ 9 aRa &1 ATUH 35°C &1, @ 17 TRIE ST aI9HH H1 82

1. 32°C
2. 26°C
3.29°C

4, 43°C

Correct Answer :-

. 43°C

13) Four bells begin to bell together and bell respectively at intervals of 5, 6, 8
and 12 seconds. How many times will they bell together in an hour excluding
the one at the start: /¥R Hfedl T& 1Y ToHT IRE gleil & SR To BT 3R HHT: 5, 6, 8
gﬂ#z T g1 Tl 3 TH [1Y T IRE H df TH °e H Ugel] IR SISH [Pa-il IR Th A1

|



1.13
2.9
3.19

4. 29

Correct Answer :-

14) =
What sum lent at 429% per annum will produce as much simple interest in
1

3.5 years as Rs.630 lent at 3.75% per annum in 2.5 years? /9 A W 4206
ufaad &1 33 A 3.5 IUT BT FIYRUT AT, 630 F. W 3.75% Ufaad & arifer g3 F 2.5 TUl & IR
TSl & SRR 22

1. Rs.375
2. Rs.405
3. Rs.385

4. Rs.390

Correct Answer :-

* Rs.375

15) In an examination, 40% students fails in Maths, 30% in English and 15% in
both. Find the pass percentage:/ T& T&TH, 40% BT 0 |, 30% 37 # 3R
15% BT S | 3ol g1 81 I<hvf ufa=ra w9 Fifsm|

1. 30%
2. 65%
3.50%

4.45%

Correct Answer :-

16) The sum of ages of a mother and her daughter is 50 years. Also 5 years
ago, the mother’s age was 7 times the age of the daughter. What is the present



age of the mother? /T AT 3R 3@ 91 Ft AR HTTRT 50 a9 g| 5 99 gd AT Y 31y,
Pt Mg B 7 T | AT B adq= g | B2

1. 40 years/ 40 G
2. 32 years/ 32 ay
3. 48 years/ 48 9Y

4. 36 years/ 36 G

Correct Answer :-

« 40 years/ 40 GL

17) The first class ticket price of a circus is Rs.12. When the ticket’'s price is
decreased then the number of visitors increased by 80% and the total income
is increased by 20%. Now, what is the price of each ticket?/ &t 9Ha & wyw goft
o1 ufa fede gea 12 3. 31 919 e &1 g veT f3an Siran 8 99 o=ie] 3t I 80% ¢ oIl 8
TUT Hd 3T T 20% Pt gfex 3 o1l 21 3l wdw Rpe FT T w1 82

1.7 10
2.8
3.3 15

4.3 6

Correct Answer :-
« T8

18) A certain sum is divided among A, B and C in such a way that, A gets 3
times as much as B, B receives 2 times as much as C. If A receives Rs.1500
more than C, what is the sum divided? /T fAf3[d 49 A, B 3R C & 19§ 39 USR TieT
AP AP BAS A ARG AT g IR B HIC A2 M ARG U gar g1 afe A, C 1

Rs.1500 3 YTt $HaT §, TieT 4T $d U= 71 8?2
1. Rs.2500
2. Rs.3000
3. Rs.1500

4. Rs.2700

Correct Answer :-

e Rs.2700



19) Find the smallest of the following fractions./fgfufad fidl # & 99 S fa=
A B

E
1. 47

45

2. 88

98
3. 195

63
4. 110

Correct Answer :-

20) Find the largest of the following fractions./fafafEd i & 3 gad a3t firg 319
|

E
1. 19

23

2. 47

98
3. 195

63
4. 110

Correct Answer :-

16
. 19



